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L Wlrte dpon a pair ot'sntegesa whese 
(a Sum is 5 (b) Sum is -3 

C) Sum is 0 ( dfference is - 2o 

20Wite pait d negahve integer whose 

tferene ives . 
) rite a nefanve inte3er eno a fosit 

iten whose Sum ts -15 

iy Wite a negatve inteje om a pesbive 

Cnteger whese difference ts -13. 

93 In a quis conpititon, teanm 'A scote a 

- IS, - 10, 0 ane 2 sceves Cn fon raunds 

and eam B Sceves -2,23, -I5 

Lo, in forwn owndb. Wlese scored 
amd 

more ad won he wihHm ? 

84. Pill èn he blanki: 

- 13+ ) 
-IS+l--* 

i 
O 

2 + l- -") 

- l0 + (- --) 

v ISt 
15 

- - 23+ ) 25 +l") 



8.5 find Ae broduet using Suitaede tnobe, h, 

i 25x (-4o) + (-4o) x 15 

(it)-14* (-41). v 

5 opentes 

x4o -2). 
51 (-21) - 5 

)754 x(-40) 
62Sx (-45)+ (-L25) *55v 

.6 Vexif he folb aotn 
0) 19x[7+ e)] - [i9x7(+ [19xe4 

(b)20) -5)+ l-7 
[-20) -5)]+ [-2o)x 1)1 

7. J a tet (+s) mans ane iven for ewer 
Ceoreet anbwen ornd(-2) rnanks ana 

im for eserd 
ocorect cmsuwen 

RaAika onpweeol t nesdnns hesdobns 

amd seercd 30 rmandks houg 

L0 CoTTeet oDsWeb. Hav many he om 

wena incorrect 

ef. -20t +13 
e.-245(s+5 

8. Avaut a. 36 +(-) 
b48 (8) 
C - 18 -L) 

The end 
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